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Problem [1]  (Vers. 6 page 375- Prob.9-31)

Use the method of Virtual Work and determine the verfical d:splacemeut nf jolnt €. Take
E=29.000ksi. Each steel member has a cross-sectional area of 4.5 i’
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Problem [2]  (Vers 6: page 373- Prob.9-9, 9-11)

For the truss shown in the accompanying figure, each steel member has a cross-sectional area
of 1.5 in". Using the method of Virtual Work and taking E=29,000 ksi. Selve the following:

[a] determine the vertical displacement of joint B.

[b} determine the vertical displacement of joint E.

[¢] deduce the axial deformation in menber BE.
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[51’] Delermine the vertical displacement of joint B.
For each member 4 = 1.5in%, £ = 29(10%) ksi. Use the A IS Gk
method of virtual work, l
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[bj Determine the vertical displacement of joinl E.
For cach member A = 1.5in’, E = 29(10%) ksi. Use the
method of virtual work.
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Problem [3]  (Vers.6: page 376- Prob.0-39, 9-40, 0-41)

For the truss shown in the accompanying figure, assume all members are pin connecled at

their end points and that their EA is constant. Using the method of Virtual Work, solve the
following:

[a] determine the korizontal displacement of joint C due to the given set of external loads.

[b] determine the horizontal displacement of joint C if all external foads are removed from
the truss and members 48 and BC experience a temperature increase of AT=200°F. Use
2 -0
A=2in" | E=28 000ksi and a=1x10° /F.

[¢] determine the herizontal displacement of joint C if all external loads are removed from
the truss and member €D is fabricated 0.3 . too short.

_[é’] Dietermine the horizontal deflection at C. Use ll}e Ay o 5 ONE (2)(1200)(5)(11)] . (~2236){~1341.64)( JEO)( 12}
method of virtual work. Assume the members are pin  (Aeh = 2 aE O C AL AE
connected at their end points. AE is constant. . (—1236)(-—3018.69}{;/55)(12)
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[éf)] Remove the loads on the iruss i Prob. 9-42 and
determine the horizoatal displacernent of point C if
members AB and BC experience a lemperalure increase
of AT = 200°F. Take A = 2in? and E = 29(10%) ksi.
Also, & = 107%/°F,
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[{:’j Remove ihe loads on the truss in Prob. 9-42 and
determine the horizontal displacement of point C if 600 b
member CD is fabricatied 0.3 in. too short.
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